CxeMa cOOpPKH ApeJy PYYHOM DJIeKTPHYECKONH akKKVMYJIATOpHO JIDA-18A-02

162 163 164

g

16.5 16.6 16.7 16.8 16.9\”;'—---

16.30 16.31

1 6.3216'33

11 DNeKTpUYeCKU ABUTATENb 1
B cbope
11.1 9]I. IBUTATENh 1
11.2 | mecrepHs asurarens z=12 1 16.18 | wapux 05 12
12 [TepexmouaTenp 1 16.19 | maiica 1
13 BcraBka BepxHss 1 Osavr. =31: OBH. =39
VT. ; OBH.
YTBep )fﬂalo 14 Haxknanxa neBas 1
TeXHUUeCKHiT IUPEKTOP s o . 16.20 | npyxwuna (36,6x19,7x2,6) 1
OJypyHKa JCeBad 16.21 | Brynka pe3nboBas 1
Anncenkos O.A. 16 Penykrop B cbope 1 16.22 | BTynKa peryampoBKH 1
T o0l 161 | dnaren 1 16.23 | duxcarop 1
— 16.2 | maiiba 1 16.24 | Brynka 3yGuaras 1
Osuyr. =16; [sn. =38,1 16.25 | BunT 3,5x16 camopes 2
Ilo3 HaunmenoBanue K. 16.3 | Brynka 3y0uaras y3kast 1 16.26 | wmmngens B cGope 1
1 Hak/1a1ka npasas 1 16.4 | Brynka 3yOuaras mMpoKas 1 16.27 | srysnxa 1
2 | Tonypyuxa npasas 1 16.5 | mecTepeHka y3kas 3 16.28 | Brysnka uentpupyromas 1
3 | Bunt 3x14 camopes 9 Uen.=11,8, z=15, h=5 16.29 | BTyIKa OTpaHHYHTENbHASL 1
4 | Barapes 1 16.6 | romneco 3yGuaroe 1 16.30 | npyxunka (3,9x15x0,4) 3
AKKYMYJISITOpHAs 16.7 | mecrepenka manas 3 16.31 | mmactura 1
5 BcraBka HIOKHSIS 1 OBu=8, z=9, h=5 16.32 | BuaT M3x30 3
6 | Maruur 1 igg mecTepHs z=12 i 16.33 | maiiba 3 npyxuHHas 3
7 | Pemeriok 1 : KopmycC 17 Bunt M3x6 2
] KonTakThoe 1 16.10 | BunT 3x12 camopes 4 18 arpou 1
YCTPOHCTBO 16.11 | npyxuna 1 19 | Bunr M5x25 1
9 Brikimoyarens B coope 1 16.12 | waiiba 1 C JIeBOM pe3b0oi
9.1 | m3omnsTop 1 Usnyr. =16; [BH. =38,1 20 3apsiiHOE YCTPOWCTBO C 1
9.2 | Tpauzucrop 1 16.13 | BTysKa 3yOyarast 1 GII0KOM IUTAHUS
93 | raiika M3 1 16.14 | mectepenka 3
9.4 | Buar M3x6 (motaif) 1 Uen=11.8, z=15, h=8.44 Nmxenep ['1aBHBIH
9.5 | pagmarop 1 16.15 | Bryska sy6uaras 1 KOHCTPYKTOP TEXHOJIOT
9.6 | BBRIKIIOYATEND 1 16.16 | oce [V1,5 amna 27,75 2 IMerpos B.T. Kynpsos JLA.
10 | Ilmara momcBeTkn 1 16.17 | xopmyc peaykropa 1




	Схема сборки дрели ручной электрической аккумуляторной  ДЭА-18А-02

